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40. Look at the number cards below.

9 6 2 5

a. Make the addition calculation with the largest possible
answer. You must use all the cards.

b. Make the addition calculation with the smallest possible
answer.

c. Make the subtraction calculation with the largest possible
answer.

d. Make the subtraction calculation with the smallest possible
answer.

41.0ne apple weighs 20 grams. It weighs the same as 10 grapes. How
much do 1 grapes weigh?

SeLIVEWORKSHEETS



42.Here is a number spider for each given. Circle the wrong
calculations.

6+6+6+6+6

Half of 48 ; 6x4 "

sa-20 1 24 ) 12412

3x8 - | e6a¥2
40-26
6+6+6+06
6x5 : | Half of 60 '
s0-20 | - 30 1 35415
3x8 |  e0ta
" Double of 15
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43.  Fill in the gaps to complete the number sentence.

3 X = 15
12 + = 17
- 8 =35
5
b X = 30
< 2 = 7

o
|
I

44 _One apple weighs 40 grams. One raspberry weighs 5 grams.
How many raspberry weigh the same as one apple?

45 Reah is 60 centimeters tall. Her mom is twice as tall as she is.
How tall is Reah's mom?

46. The car is 80 centimeters long. The bus is twice as long as the
car. How long is the bus?
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47 .Here are L- shapes made from squares.

a. How many squares in L- shape 1?
b. How many squares in L- shape 2?

c. How many squares in L- shape 3?

d. How many squares do you need to make L- shape 4?

48. Shade the shape accordingly.

1 1 e

2 3 6

Which two fraction are the same size?

Which two fraction are the same size?
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49.The first paint brush is 6 centimeters long. How long are the
other paintbrush. Choose your answer on the given below.

i

Bem | 9cm ([ 7cm [11em | 12cm | 20cm

50.22 children are given 4 pencil each. How many pencils are there

altogether?

51. Marichi has these coins. How much money does she have?
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